N = 0l & At & M A

20148 &= 204 LB AHLIIEISES A &l

2N seI=E
MY SUNEAMEAL
&S J=/YRFIUXNE (&)
SA - BB B () - MM - BES Ol &t o San HmEET
sHJI=& 26,545,228 27,258,427 AT713,199
= 6.016.313
= 6,354,000
=2 389,000
< 13,785,915
SHAUSANHEZAI 943,565 827,121 116,444
Js)IRFAUXNSA 363,963 360,833 3,130
=3 dE2d 363,963 360,833 3,130
201 Let24d] 305,203 298,933 6,270
01 At 22l 18,600 16,600 2,000
Oget=&H| 15,000
—dutH A SZH (A X2 D) 15,000
Oz &l 1,600
-Jl=d 329 =2 1,600
Oul=l 2,000
-SEMEFZH MU d=57US
50,000& »40H 2,000
02 =24l 286,603 282,333 4,270
O232= % HAl 251,503
-sH= 20,000 =30 128 720
- M4 ER 22,738
H+E2(UL8)
(2,5702+690t+9,460& ) *12& 21,3%
20 EBRE3 160% *700t =123 1,344
-8 2R3 215,187
2= 6,990 *800kwx 12 67,104
A== 148,083
GRS 30,109
sts 56,662
HE 61,312
- NEEEE 2,850
SEX 350, 000& »3CH 1,050
SEX 600,000 2K 1,200
St= Xt 300, 000& »2CH 600
- XS XA 1,720
SEX 200,000& +3CH 600
SEI(UE) 550,000 = 1CH 550
SEN(EEY) 270,000& «1CH 270
- stE Xt 150, 0002 »2CH 300
- XAEFAE 360
SEX 40,0003 301 x 13/ 120
SEX 40,0003 x2CH x 13 80




2M: sgl=d
MY SUNEAMEAL
el Iz YL ENL CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
3t 2 Xt 40,000& *20H 23] 160
-SIEMNEREE 2 2,168
Al & 243 %57 ,0004 1,368
=4 80,000& *50H *23] 800
- &M XHE S I 100,000& x 12! 100
— g3t 22| XHE 3l HI 100,000& x1 2! 100
-33)| &g 160,000& x 12! 160
-2 22X 100,000& %201 200
— &I &Y ot™ &G 4,000
-HOoI= TV AEES 100,000& = 12& 1,200
(@PNE=FaR=1a:] 35,100
-2z 4,300,000& =1CH 4,300
-5848 4,200,000& =1CH 4,200
-s5238¥ 3,800,000& = 1CH 3,800
-SEUE 9,600,000 =1CH 9,600
-S5E5E 5,600,000& = 1CH 5,600
-SEEE 3,900,000& = 1CH 3,900
-3E2LE 3,700,000& =1CH 3,700
203 ¥R =&H| 9,000 9,000 0
03 A =X R =XIH| 9,000 9,000 0
OsEMNEAH =X 9,000
204 &2 A H| 43,200 45,600 N 2,400
03 S8YRZEHI 43,200 45,600 N 2,400
OWelg =t (5= 0lal) 50,000& x72Y x12& 43,200
301 Lpr B A 960 0 960
09 HALAHIEA S 960 0 960
ORIIHAE ZFMESHAXR  30,000& *32H 960
405 XH&HF S HI 5,600 7,300 A 1,700
01 AL 2 EF SHI 5,600 7,300 A 1,700
OdHd &Y #+¢ 5,600
- S AHD| 4,500,000& =1CH 4,500
— A 600,000 *1CH 600
s IR R=) 500, 0003 = 1CH 500
sgI=a A2 579,602 466,288 113,314
NEESET] 390,836 404,702 £13,866
201 L2 Y| 390,836 357,202 33,634
02 352494l 390,836 357,202 33,634
(@)sK=3] 93,933
-—22 - d32s g 63,415
a5 36,212
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MY SUNEAMEAL
el sl AL CER-ED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
ks 27,203
-2 - Hd31s 2 6,830
a5 3,900
sS= 2,930
-SXMI(EBSR) 7,428
-—=sgolg & g 16,260
a5 9,285
sS= 6,975
OA & &Hl S Xl 296,903
-HI22IJEX(HEE S) A2
3,445% %22 747 78,364
—MISMALAYEY RAES
50,000& x 1005 5,000
-E1024Hl A2 500,000& *5& 2,500
- AL (E 28 32 5) A2
40,000& *50& 2,000
- & AN EXE FX2a 100,000& 20 2,000
-#HHEAMEH KX 22 300,000& x12& 3,600
-5 dILKRUE WA 500, 0003 =6CH 3,000
W2t HIT Al x| 1,000, 000& *2CH 2,000
-d=2s SEA 150,000& *123] 1,800
— et el A 150,000& =103 1,500
-S43 HAs4H 1,500,000& 23] 3,000
-sgog s 2222 A2
700, 0003 =204 1,400
-S4 dUHe)| A2 4,650, 0003 =2CH 9,300
-2LHX A& 1,000,000& 24! 2,000
-PHEIXI SINUEf 400, 0003 *504 2,000
—HAILY D] & did 2el
100,000& = 12& 1,200
—&EAI &5l 8Y 21&*21,012m = 12& 5,296
—EAM gY9Ls 829 453 %21,012m 53| 4,728
- AP R20Z2H &9 30 *21,012m x12& 7,565
—EAN 3L E2H 146,900
- YWee)] S A H 65,000& *x50JH 2~ 3,250
—HASEHHITA 6,000
-2 AUHSIE RA2ACES 2,500
ANEINE = 166,000 43,000 123,000
401 Al HI 2L 2 0HHI 166,000 43,000 123,000
01 A& HI 166,000 43,000 123,000
OFAMN AIE HEX 166,000
-H3s S WAl 166,000
HALEHE E 4| 22,766 18,586 4,180




AR g

Hu: SQASAMENR
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- _ _ RE]
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04 JI2ZtHIZ2 2 NEE S 13,566 10,386 3,180

OXFg ExHAH 28 42 2603 x2H 100 8,452
Ostax ol 42 260& 22 x503] 4,226
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02 2=2=24%4| 5,000 4,200 800
OHJI2 X 2lyl 4,000
OAAEZH KXY 1,000
206 M = H| 3,500 4,000 A500
01 X2 H| 3,500 4,000 A500
O =322 M= 3,500
-Xxd 32 2,000
— <ot g 500
-z A2 7Y 1,000
405 XHA&HF S HI 700 0 700
01 XA 2 FF S| 700 0 700
OFg&els &7 700
- 0l F DI 700,000 =1CH 700
Sz 6,904,342 6,574,776 329,566
= 253,018
2 2,400,000
= 50,000
o= 4,201,324
AR XK 1,165,467 3,667,581 N2,502,114
= 3,000
2 1,030,000
= 132,467

AME8AR2AEA 28,600 37,189 A 8,589
201 et | 21,100 21,100 0
01 AP 2t 2] H| 21,100 21,100 0

Ogte=2Y| 15,000
—UBIAAMLZY|(HE2SH D) 15,000
o2gds4 4,400
~NE A Mol +g
100, 000& 22X x23| 4,400
(@E==1:] 1,700
—NE AR A o= Xost
100,000 17X 1,700
203 € R F & 1,500 1,500 0
03 AIEH =X H 2 F X Y| 1,500 1,500 0
OsZEdEANEAR =& 1,500
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M sYII=HE

Selr AFNEXE

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
09 HALAHIEA S 1,500 1,800 A 300
OSAsSEeE"d 29 24 1,500
& 1,500
307 21201 A 920,000 1,164,000 A 244,000
= 920,000
02 B AEXS 920,000 1,164,000 A 244,000
OSsizenstoigeicAlg X8 X @ 710,000
& 710,000
OEstA=SHAR ML WA A7H XA 210,000
= 210,000
NSEHAAD e 2 (HEAR I E 140,000 2,400,000 A 2,260,000
& 70,000
< 70,000
405 XHoHE S HI 140,000 0 140,000
& 70,000
< 70,000
01 et EFFHSHI 140,000 0 140,000
OX2 MESESH ANEHEF? FH B2 140,000
-22J 12,000, 000& 14! 12,000
& 6,000
< 6,000
—EMN28A=D) 5,000,000& x 14 5,000
= 2,500
< 2,500
—EuE =+ 20,000,000 =14 20,000
& 10,000
< 10,000
—EAA FZODI 12,000, 0003 %14 12,000
= 6,000
< 6,000
— A=A S FOI 7,000,000 » 14l 7,000
& 3,500
< 3,500
-=X AlH|D| 6,000,000& x 14! 6,000
& 3,000
< 3,000
-Z=2J & HHD| 6,000,000 » 14l 6,000
& 3,000
< 3,000
- 22| 7| 5,000,000& 14! 5,000
= 2,500
< 2,500
-—=54 =4I 5,000,000 =14l 5,000
& 2,500
< 2,500
—EadH Y ZAYD| 39,000,000& =14 39,000
& 19,500
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L EET=BIEE
BE: s|sHY
& NFE sS&2 )z e (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ONBZ JISHE BaJshe 2xol%
42,2603 x1H =190 8,030
OgERE= 5,339
201 et 57,683 60,241 A 2,558
02 2324l 57,683 60,241 A 2,558
Oz&E2= & HA 200
-SIEEE 200
O =l 47,983
- N 24 1,763& 704 25 +140 34,555
—ANBAE ERAL
1,7633 %280 *20H*136L 13,428
OA&EHl= X bl 9,500
-sSJIAH |F4 750,000& +6CH 4,500
- 3tHtel | Xl 1,600
-24 2 A4 XYl 2,200
- UAEII =468 1,200
207 RO ] 33,650 33,650 0
03 A& & 228l 33,650 33,650 0
Ol Alge 2 130,000& »85& *23| 22,100
OLNSE Jlsds Midls A3
130,000& 605 7,800
OH AEE SHAE 150,000 x25& 3,750
301 et a = 500 500 0
MIIEEd= 500 500 0
OANgsIt 24 50,000& x10a 500
2AE ML AL 96,574 94,009 2,565
101 @14l 59,074 56,509 2,565
4 JI2ZtHZ22 s+ 59,074 56,509 2,565
OUIAIE BEX0F 42,2603 x1H 150 6,339
OFFAE Ex02 42,2603 x3F 160 20,285
ONEZE MAII=HE EXR
42,2603 x2F 140 11,833
OFTALI S MEEXFE dEAE EXR
42,2603 x1H =110 4,649
OuEsae 802 42,2603 x 18 160 6,762
O3 33Ul EX0=8 42,2602 «1H 103 4,353
OHERES= 4,853
201 Let24dH] 6,000 6,000 0
02 =24l 6,000 6,000 0
OA& &l sl 6,000
-2&HE sJIAH | 1,600
—AEAE |Xb 3,200
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L EET=BIEE
MM sHI) s
e NEBE SSEAS MM e (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 13,074
04 JIAHH2ZRSE S 13,074 11,477 1,597
OHAZT M Qg 12,000
= 12,000
SEE-EA=E 1,074
= 1,074
207 A3 & 1,904 1,897 7
= 1,904
03 A& A 32H| 1,904 1,897 7
OAZE M MR 1,904
= 1,904
A=Y XNEES =25 AR 13,572 13,213 359
101 21 21d| 8,472 8,113 359
04 JIZtHI22XNSE S 8,472 8,113 359
OAlg1 AEZE 22| o8
42 2603 13 «184L 7,776
OgaEgRE= 696
201 et | 1,500 1,500 0
01 AFR 2t 2| bl 1,500 1,500 0
Ogbt=2d| 1,500
-AEZ0 H37 A2F F2¢ 500,000& *33] 1,500
207 I & 3,600 3,600 0
03 A&l o 2| 3,600 3,600 0
OAlz1 ANEHR? M= 200,000& x18= 3,600
B2 04 U %E HEG H7 19,853 20,440 587
101 124 H| 10,853 5,440 5,413
04 JI2ZtHIZ22NEES 10,853 5,440 5,413
OOQla & Skx AIEILA 22l 28
42 2602 %2 120 10,143
ogagd= 710
207 R4 2l 9,000 15,000 A6,000
03 AIE A 32| 9,000 15,000 A 6,000
Odl2A "HiY & XHM 500,000 8= 4,000
O&EH ola 2 otx THHE AIE M2
200,000& x25& 5,000
SHEIHHEG 455,280 398,036 57,244
= 235,040
= 50,000
= 170,240
HMAUEKXIAXH 2 111,240 67, 156 44,084
201 et Y| 46,840 45,400 1,440




D sgllEd
sgllEnYy
P sHTEEES

SA-E B (3H) - MBAY - BES ﬁlf& HDS2
02 3524l 46,840 45,400 1,440
O332=2 % HA 17,400
—oHY SA3 1,450,000& =128 17,400
OAI& &H|l X4l 29,440
-HEKIAFH S 28,000
- ADIEE BHIIE BAH SANE%
120,000& = 12& 1,440
207 A O Y| 50,000 0 50,000
02 & AR EHH| 50,000 0 50,000
ONXAHA 2HIY SIHEHO0IX 25
500, 000& 1000 &~ 50,000
301 dBtE A= 14,400 14,400 0
11 JIEt2 &= 14,400 14,400 0
OANEEZEZ HYIIEE N WY 4SOt Xl
& 20,000& *12Al 2 *5= I+ 12& 14,400
HEBEAG ALY 50,000 50,000 0
= 50,000
207 A SO0 | 50,000 0 50,000
= 50,000
02 & AHJH EHH] 50,000 0 50,000
Osgll=d EHOXN 2E(2H) 50,000
= 50,000
SAMSASE ZAEA(ZH) 22,000 20,000 2,000
= 22,000
101 2124 d| 16,944 16,913 31
= 16,944
04 JIZtHI2E2EXNSE 16,944 16,913 31
OsbE4S ZAZH 2F0R
42,2603 x2H 184 15,552
= 15,552
ogagdgz2 1,392
= 1,392
202 04| 5,056 3,087 1,969
= 5,056
01 2L Y| 5,056 3,087 1,969
OsMEAS B2 A =& 5,056
= 5,056
SMEAS ZAIRA(XH) 56,040 41,880 14,160
= 56,040
308 XX SHAHSOIH 56,040 41,880 14,160
= 56,040
01 AIXHHBAEXZ 56,040 41,880 14,160
OsME2ASE RAEA XS 56,040




AR g

M sYIlsHe

e sgAIGES S (e H)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
| = 56,040
NesHllsE22 AESHEAE) 50,000 54,000 A4 ,000
= 25,000
== 25,000
101 Q121 H| 19,800 19,820 A 20
= 9,900
= 9,900
04 JI2ZtHIZ2 2 NEES 19,800 19,820 A 20
Os2II&HL BRE o
42 2603 %2 %215 18,172
= 9,086
& 9,086
ogagdgz 1,628
= 814
= 814
201 et | 3,700 3,680 20
= 1,850
= 1,850
01 AP 22| H| 3,700 3,680 20
Ogt42H| 3,700
- =) I=sE28E3FR ARE = 3,700
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OA & &Hl S XY 5,000
—HIIZ2XK2IUES 250,000 x4 E 23] 2,000
-sH3aAxzAE 600,000& *x13| 600
- HMEBH(AREZEEHE) &
300, 000& =6LH 1,800
-&EHAN HASHH| 300,000& 23] 600
(@PNE=FaR=la:] 3,500, 000& = 1CH 3,500
204 &R = A H| 3,600 0 3,600
03 SEYREHI 3,600 0 3,600
odiclgsdl 50,000& x6H 128 3,600
AOIZTE B4 L MA AR 155,620 0 155,620
101 2121 d| 56,520 0 56,520
04 JIZtHI22XNSE = 56,520 0 56,520
O=SESMUIAIEE X 42,2603 18 %270 11,411
OSZAEaAEAE X 42,2603 «1H »270L 11,411
OsJIH2EA 46,2503 18 %210 9,713
OAEZLEHOR 42,2603 x2H »240 20,285
ogaggz2 3,700
201 et A b 3,000 0 3,000
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AR g

M sYII=HE

el olol ERM o7 GEERED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
02 3322l 3,000 0 3,000
OA &&= Xl 3,000
-sJIH X ¥ KRS 500,000& +6CH 3,000
207 Ao &I 96,100 0 96,100
03 Al & 11HI 96,100 0 96,100
OANEZZ2e W2 3,000& =18,000m’ 54,000
2= A 8,000& *1,200= 9,600
O/ACAIE AR HE 250,000& x65& *23| 32,500
Jlsd AolMe AR 78,922 0 78,922
101 144 Hl 24,422 0 24,422
04 II2HZ22NSES 24,422 0 24,422
OJNBAEA ANEEX 42,2603 x1H »270 11,411
OHEZ=24 ANEEZX 42,2603 x 18270 11,411
OYHBRES 1,600
207 A RO H| 54,500 0 54,500
03 A& & 32 Hl 54,500 0 54,500
OAAAIEAT W= 250,000& 455 +23| 22,500
OSH8 A% 2 2T 29
400,000& x40& *23| 32,000
NSHRI|BEEH (k1A R) 2,000,000 0 2,000,000
& 1,000,000
< 1,000,000
401 AIEBIZ 201 8] 1,000,000 0 1,000,000
= 500,000
= 500,000
01 A& Bl 975,820 0 975,820
OY%eIMEFD M= 586,260
— & Al E A 20,280
& 10,140
< 10,140
— A& Hl 565,980
& 282,990
< 282,990
OelAIZ A IRy 389,560
— & AIE A 15,360
& 7,680
< 7,680
— Al &l 374,200
& 187,100
< 187,100
02 2eltl 17,520 0 17,520
OYeIMFD M= 9,960
& 4,980
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2N
X ZH -
L= B

el

sz
sYIl=He
etel SEIMH =2

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

< 4,980
OelAIZA IRy 7,560
2 3,780
< 3,780

03 Al =2 THHI 6,660 6,660
OYeIMEFD M= 3,780
& 1,890
= 1,890
OelAIZ A Jgtx s 2,880
& 1,440
< 1,440

405 XHoHE S HI 1,000,000 1,000,000
& 500,000
< 500,000

01 AL EFFHEH 1,000,000 1,000,000
ool A Al 1,000,000
-9 I2A=Z0tE DN Il 110,000, 0002 = 1CH 110,000
= 55,000
< 55,000
- =22 49,500,000& = 1CH 49,500
& 24,750
< 24,750
- ZH2ds 11,000, 000& »2CH 22,000
=1 11,000
< 11,000
— QI 7 HIOIH 1,600, 000& »4H 6,400
& 3,200
< 3,200
— & E D] 3,300,000% »2CH 6,600
= 3,300
< 3,300
-0gda el 3,500,000 = 1CH 3,500
& 1,750
< 1,750
-y =eldl 17,000, 0002 = 1CH 17,000
& 8,500
< 8,500
—s2dx)D| 121,000, 0003 = 1CH 121,000
& 60,500
< 60,500
- Z32LNE 2,000,000 = 1CH 2,000
= 1,000
< 1,000
-—24848 M2 2,800,000& = 1CH 2,800
& 1,400
< 1,400
- 0ggERI| 5,000,000 = 1CH 5,000
& 2,500
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AR g
M sYII=HE

Helr 20 SENL o3P

SA - ZE-B(EN) - NRAY - B S il &t o il
== 2,500
- S&¥x 3,600,000 = 1CH 3,600
& 1,800
< 1,800
— AT 33,000,000 = 1CH 33,000
& 16,500
< 16,500
-E8%= NZEX 7,200,000 = 1CH 7,200
= 3,600
< 3,600
- GC/MS 168,000, 0002 *1CH 168,000
& 84,000
< 84,000
-3t AEDI 1,700,000& = 1CH 1,700
= 850
< 850
-ZSCg &Y 4,950,000& «1CH 4,950
& 2,475
< 2,475
—Hot Plate 2,200,000 = 1CH 2,200
= 1,100
< 1,100
—Hume Hood 3,700,000 = 1CH 3,700
& 1,850
< 1,850
— lce Maker 4,400,000 = 1CH 4,400
= 2,200
< 2,200
—pH OIE DI 1,300, 000& = 1CH 1,300
& 650
< 650
-3ld == 5,500,000% = 1CH 5,500
= 2,750
< 2,750
—g2s= 800,000& = 1CH 800
& 400
< 400
- &ssoldg 8,000,000 = 1CH 8,000
& 4,000
< 4,000
=A== 3,800,000 =3CH 11,400
& 5,700
= 5,700
—ANSEB2E 4,400,000 = 1CH 4,400
= 2,200
< 2,200
—AEAE dE 1,850, 000& »2CH 3,700
= 1,850
< 1,850
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2N

sz

M =gIl=eg
Chel: ool SEIML AR (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
-2AdxD| 1,750,000& = 1CH 1,750
= 875
< 875
- =47l 12,100, 000& = 1CH 12,100
& 6,050
< 6,050
-g2asl 11,000, 0002 »4CH 44,000
= 22,000
< 22,000
i E= 2,700,000 = 1CH 2,700
& 1,350
< 1,350
- M& 2| 2,400,000 = 1CH 2,400
= 1,200
< 1,200
-0/s8x= 1,800, 0002 = 1CH 1,800
& 900
= 900
-4 S5e3 2,500,000 »3CH 7,500
= 3,750
< 3,750
-=4d43 2,500,000 =3CH 7,500
& 3,750
S 3,750
= 2,400,000 = 1CH 2,400
= 1,200
< 1,200
— Ot 2| 3,700,000 = 1CH 3,700
& 1,850
< 1,850
- A 4,600,000 = 1CH 4,600
= 2,300
< 2,300
-3 =gl 900,000& = 1CH 900
& 450
< 450
-S| 3,500,000 = 1CH 3,500
= 1,750
= 1,750
-2 == 700,000& »1CH 700
= 350
< 350
—Aluminum Et& DI 5,800,000 = 1CH 5,800
& 2,900
< 2,900
- & 27,000, 0003 =14 27,000
& 13,500
< 13,500
-l RtEsE A 0| 157,000, 0002 = 1CH 157,000
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AR g

M sYIlsHe

Chel: ool SEIML AR (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
& 78,500
< 78,500
-gd27 5,000,000% = 1CH 5,000
& 2,500
= 2,500
- SEEHDI 40,000,000& = 1CH 40,000
& 20,000
< 20,000
== 5,000,000% = 1CH 5,000
& 2,500
= 2,500
-U=2H208xt 15,000, 0002 = 1CH 15,000
& 7,500
< 7,500
- S0 F0I 5,000,000% = 1CH 5,000
= 2,500
< 2,500
- EdH 35,000,000 =1CH 35,000
& 17,500
< 17,500
Jl23Hl 175,760 0 175,760
201 Let24d] 27,480 0 27,480
01 At 22l 27,480 0 27,480
Oget==&H| 1,330
-Jl2=&t| 1,330
ozg=¢ 24,050
-2 50,000 x1H » 116 5,800
-=X 50,0003 » 1 3652 18,250
O= &l 2,100
-JIE22&tl 2,100
202 O4dl 7,000 0 7,000
01 =S LHA YI 7,000 0 7,000
OJI2nHl 7,000
203 R =&l 3,280 0 3,280
02 A H R =X 280 0 280
22 AP & A Y| 40,0003 »74H 280
04 BENSSHRF=LHI 3,000 0 3,000
OgtelAz A 250,000& = 12& 3,000
204 AR A H| 1,800 0 1,800
01 ¥R A 1,800 0 1,800
O2% 150,000& 128 1,800
405 TtabF S| 136,200 0 136,200
01 AL EFH S 136,200 0 136,200
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2N

sz

M sgIIsNe
ol ool BEHM o7 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Oo=nEX 30,000,000% = 1CH 30,000
Oz 74 1,300, 000& »7CH 9,100
OLE=S 1,500,000 =1 CH 1,500
O=ZgH 700,000& +3CH 2,100
O&E K= AL 4,500,000 = 1CH 4,500
OAME DI 600,000& = 1CH 600
OAME A &I 80,000,000& =14l 80,000
O&=)| 2,000,000% *1CH 2,000
Od&ED 2,600
— & (100L 0lGH) 200,000 1CH 200
— HZ 1 (500L Ol4) 800,000& +3CH 2,400
OFAX 600,000 = 1CH 600
o1V 1,000, 000& »2CH 2,000
OXIZ Al 1,200, 0002 = 1CH 1,200
sHsEJI=XA 12,916,973 13,574,853 A 657,880
= 5,763,295
& 3,954,000
& 339,000
< 2,860,678
JlsXladlg =4 5,787,790 6,301,060 A 513,270
= 1,151,620
& 3,499,000
< 1,137,170
sgAEoH AL (XINE, ANY) 180,000 162,940 17,060
= 90,000
< 90,000
201 L4l 31,900 44,600 A 12,700
= 15,950
< 15,950
01 At 22l 28,900 41,600 A 12,700
OAsHEIsEFHWNE 29 =34l 10,600
= 5,300
< 5,300
ON=HESSHADS SN0z
600, 000& *63] 3,600
= 1,800
< 1,800
OASHESSHHDS ALY
200,000 x5H x53] 5,000
= 2,500
< 2,500
O4-Hald L XNEWAN s X 2,400
= 1,200
< 1,200
O=sgZd M2y s S5 4,200
= 2,100




AR g

g sgsEJ=XE

el DS X £ (el:de)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
= 2,700
ONE228 A2NY DI(HBMS) S=|
500, 000& x2H 1,000
- 500
< 500
Oozeltus sS4 700,000 »3H 2,100
= 1,050
< 1,050
03 &AL Z I 3,000 3,000 0
O4-Hald ¥ XNE WA 1= 3,000
- 1,500
< 1,500
202 o4dl 88,700 56,240 32,460
= 44,350
< 44,350
01 = LH 4 Hi 30,000 32,340 A2,340
OsEX&EAMg 25835 XA 12,000
= 6,000
= 6,000
O4-Hgl & XX 4,000
= 2,000
< 2,000
OFsHEGSEE ERII&=XE 4,000
= 2,000
< 2,000
OXNE=2d M2sENL(M2NEAHRS) 10,000
= 5,000
< 5,000
04 =Xl =t Hl 15,800 19,000 A 3,200
OXEZ2E i (2 MEH, ENEH) 15,800
= 7,900
< 7,900
05 323 WAL 42,900 4,900 38,000
ONE2LR AW DI(HEAS)
300,000& 2 600
=2 300
< 300
O=sg3dd dFolgad u=s 1,800
= 900
< 900
OXNEZSRE A2y Is(22NRK)
300,000 »3H 900
= 450
< 450
O=2UBIINSEHE (1H/445F) 18,000
= 9,000
< 9,000
O3UIIInEsE (2E/14X}) 21,600
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2N
X ZH -
L= B

el

sz
sg=sEJI&XNE

JlsXdoe &4

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

= 10,800
< 10,800

206 M=l 9,400 11,600 A 2,200
= 4,700
< 4,700

01 =8l 9,400 11,600 A2,200
O4-H3lg 2 NS WA s &4&sME 4,600
= 2,300
< 2,300
OF=sHEEsEHUE HEH 4,800
= 2,400
< 2,400

301 gt 4= 18,000 18,500 A 500
= 9,000
< 9,000

09 HALAHIEA S 18,000 18,500 A 500
O4-H 3l & NEWAt s &It 24 6,000
= 3,000
< 3,000

OFSAES=THDR FI2B

30,0003 x80Y x5H 12,000
= 6,000
< 6,000

307 21201 A 32,000 32,000 0
= 16,000
< 16,000

02 B AEXS 32,000 32,000 0
Ost=4-H 22 usiA 32,000
= 16,000
S 16,000

sAARH AH(XH) 676,620 658,030 18,590
= 676,620

308 XX EHHSOIA 676,620 658,030 18,590
= 676,620

01 AXSHBLELS 676,620 658,030 18,590
O=sgedEZus 120,000
= 120,000
Osgelts2d 150,000
= 150,000
OXNEZR dSMY W= 52,900
= 52,900
OS2 dEsdilgas NId 52,320
= 52,320
OXNEZR oiAH= 18,100
= 18,100
OsEX&XN Hu= 10,400
= 10,400
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AR g

g sgsEJ=XE

e Jl=XdIe =24 (2 &HH)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2

OMEINEIH(sE0d4Hded) ¥HUSs 10,500
= 10,500
O8&IIsXNE 85X 56,400
= 56,400
OAsHE UES2E L SEF3as N 158,000
= 158,000
Oss8=sd02 A3 g4 48,000
= 48,000

HESHBYSE(RET) 34,000 34,000 0
= 17,000
= 17,000

201 Bt 10,000 6,000 4,000
= 5,000
o= 5,000

01 At 22l ] 10,000 6,000 4,000
Ogst=2H| 10,000
-das g5 29 & 10,000
= 5,000
= 5,000

202 04| 24,000 24,000 0
= 12,000
o= 12,000

01 2L Y| 24,000 24,000 0
OZdAs Atg2tel L AISEIF XX 24,000
= 12,000
= 12,000

HNEsIEI9sH(NH) 368,000 528,000 A 160,000
= 368,000

308 AXISHXMSOIH 368,000 528,000 A 160,000
= 368,000

01 XHHNBIMNEXTZ 368,000 528,000 A 160,000
OdEsIHEAS)24 5 AIY 320,000
= 320,000
OZdAs At 2tel & AFEEIF XA 48,000
= 48,000

NEsgELI=XA 1,529,000 2,262,000 A733,000
) 1,529,000

403 XX S S K201 A 1,529,000 2,262,000 A733,000
) 1,529,000

01 AXHXMAHEE = 1,529,000 2,262,000 A733,000
OXNY9=sgd S43 A 1,329,000
2 1,329,000
OHlLNRASTSs S2AL 200,000
=z 200,000

NA=ENCALS LN (NI HE) 514,000 0 514,000
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2A: sg8I=&
Y sds=)=Nd
R JI=s=XK0|e X4 (e H)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
= 1,010
405 XHAHF S HI 61,100 0 61,100
2 30,550
== 30,550
01 XAt 2 ZF S| 61,100 0 61,100
OsZEXNEZAMYE =3XE & 24As AT
o 42,300
2 21,150
< 21,150
Osgo s 28 & nWs&H| 18,800
2 9,400
= 9,400
NES=XN AL LTINS (XH) 1,713,000 1,950,000 A 237,000
2 1,713,000
403 XX SHHS K20 & 1,713,000 1,950,000 A 237,000
2 1,713,000
01 XIS A=2E X 1,713,000 1,950,000 A 237,000
OsEXN&Eoe &4 713,000
2 713,000
OXE&dstas IR 500,000
2 500,000
Os&gstdHo| &Y XS 275,000
= 275,000
OsEd2d&x0s84 225,000
2 225,000
SEXNTANY 29 72,160 63,900 8,260
201 LBt 57,800 56,400 1,400
01 AP 22| H| 57,800 56,400 1,400
Ogbt4=24| 54,000
—stAALZH| (XK= ) 54,000
oYxtz 2,400
—SEXNEANY AXIDE HA X
600,000 x2L 23| 2,400
osgay 1,400
-SEXEMNY DT ALY
350,000& 43| 1,400
202 044l 6,000 6,000 0
04 =H 30 bl 6,000 6,000 0
OsR =D dixora 3,000,000& x2H 6,000
203 R F & 1,500 1,500 0
03 AIZH =& H 2 F X H| 1,500 1,500 0
OsZEXNTANY &g =4 1,500
301 PP A 2,360 0 2,360
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